4.1 Congruent Figures Date:
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1. T can explain the definition of congruence.

2. T can identify corresponding angles and sides of two triangles.

3. I can identify corresponding angles and sides by choosing
corresponding positions in congruence statements.

4. T can show that if two triangles have all corresponding sides and
all corresponding angles congruent, then the two triangles are
congruent.

5. T can develop and write a congruency statement for two figures
by matching corresponding parts of the figures.

*Congruent Polygons: PO‘L{%DV\$ Hhot are the Same SV\&IPt and S12e

X EJOL('J*\ anngc, ond s e S Congruem"‘ 1o an
Mgle br sid¢ jn_ onother ’po/ygon
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E % AABRC = AXyZ

Example A: Name the congruent parts of ARST = AYXZ.

LR 2\ ”2S™> Jx
LSy ZT = X2

LT =42 et = Jz

Example B: Complete each statement by drawing the triangle pairs.

—

1) If AABC=AXYZ, then4dB= X 5|

2) Tf ALKF = ATWN, then /W= £ ¥~
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3) If AECF = AKIV, then aVkT = AFEC
Example C: Are the triangles congruent?

LS = Lw ST = TW
ZRTS = svin RS AV
\‘e,$ A(i% 2\ RT =T
D Choice
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Example D: Find the /X if msY = 67°, msM = 48°, and AXYZ = AKLM.
K
e K\x
Y Z M L

X+L1+4g = 1$D

X+ 115=| %D
-11s -1)S

—~——

-0
X = 2105 J
Example D: Given: AABC = ADEF, fin e values of a and b.

e . Np+d S+ 2 +12=420
WE 23+ Zb =1%0

-124 - 12<
B m—
100-5)° (70N 2b=52
' _ =20\
VD a-S = 45 L
+S t+S -D
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WHITEBOARDS:
Example A: Complete each statement by drawing the friangle pairs.

1) If AABC=AXYZ, thenYZ= __

2) If ALKF=ATWN, then ZzF=

3) If AECF = AKIV, then ACFE =

Example B: Given AGEO = AFUN. Find the values of x and y and m«£N.

G <B1°

E

v

(18x + 9> F

Example C: Given: AB = DE,BC = EF, /A = /D, and /B = ZE.

Do we know AABC and ADEF are congruent? Justify your answer.

E

mzN =
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